BB H"G EREMBRHHRAT

BBMG CORPORATION L EPERP IR T I A&
WFHARS . 601992 SRR SRS NERS. (§ 2015-080
= EMBED AR H

KT AFARGRERIBRADE

FATF REHFSEERAREA S NENFEEMBRICE. REEHD
REERBRR, HXHARRESE., MR TR AR LIEH T,

EEARRS
@ HHARAZIK: WLESRMBAKRAERAT (TR “ESHME”)
@ FREREF I AHBRRT&M:

Wi FITEART
e | WA SR | AU S %ﬁgﬁﬁ% &t
1 A LT E 5700 5700

® AREEHRIER: FKBERIERER
@ XiSMERIEIK Bt TRYPNIHERIER

—. HRBR
ESEARIE R R i o by G R ) /AN S K ) am /A
BT % 5700 J7 yoiRAT A SR AL T~ {H LR -
I H, o w] SASHEAT A A IR A w1 AR 047 CRRR “ASATH]
A6 3177 ) 88 (RIEGTDY , Aa¥ &S ST Iba o
AP B AT T NIRRT CREh % 08k & ) SR A4 ST A
UEFELR, JARRA 12 AN H o 2wl A8 AR IE TTAT I R 1) R 15145 Jg AT
PR il H AR A




BBMG CORPORATION

M tRemBBERAS
BBy'G RS IR G B IR B IR 2%

N BT EARE N

TR EE AN AT AR T AT, A F AL 12002959 H 26 H
FEMEZE AR R 130000 05 76, 3 A btk A A7 50 T SR X B e AR B A
e RN, ARZEJEA: Kid. 2RVE™ B8 AK
ATFR. 8 WmBURAE . W6 mEm . i maaxna
BrAr= e JREELAMINAL AKIRBHEE RIS B AKTEHR
FCAFIRIIN L BB, 28 A BT T 5 IO HUR e 2 IO A S A i Rk B
A HE OSSR PR A 7] 2078 (K BAE 128 I BR M) KBk
L WA B KU KAHCEAR MRS Hil. &,

B w WSRO -

Hpr: AR
2014 4F 12 H 31 H 2015 4F 10 H 31 H
EiZINE| ez AINE|
ok o gt e (2014 4 0N o NS (201541 H—
FE) 10 O
338518 158169 180349 13386 323132 144505 178627 -1811

=, HRDUPEEAE
LH, Aa 54T IEE 3 AT8E (RIESTRD 5 2 mlRe o < R
AR S AT AL AT A B AT IR T e MR T CGUsh B e bl 5
[l PRI s AR DR UEIE R, 2wl ARSH ORUE DT AR 1 PRUEIYITR) D4 50 55
AT SRR e < ERE PO AR, DRUEFE RV D 3245 R 300 A < A )6
FRMATE  BAe. WEEe kT CATAEE 217D A5k
PR S ARB A AL — VI 9 (FREAR T YRR S ik
Rl g S 9DD
M. EFEXEL




e tRamBHERAT
BEY'G sauc corroration RS BRAERA RIS S

DN T AR by 4 B 0 25 DO R AR R O T R L AR PR A T
Gt oK, MR A I EEN S IFFEEAR e R, Fr6 A w AR R I 5
. A AGRORIEESTE T, S SR SR R AF, 4Rt
PR USSR T Y Y, AN 35 A R A 5

. XAMELR RSB R AR K R &

#11 2015 42 10 H 31 H, A w RSB R BT 22,332.00
J7t, ARRTFR AR RAE R R EUN AT 22,332.00 /176,
QAR — WA H T BT Y 0.72%, ol IHE R o

5~ ERAE A

WAR AR A SR Sl — S U 45 4R 3%

Sl

AL SRR AT IR 7] B2
Okt —H =tk



